Temperature °F
(64°F)

Weather Symbol
(In this case fog)

The Weather Symbol

Cloud Cover
In this case 75% clouds -
“Broken Clouds”™)
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| Pressure in mb
(1002.7mb in the example)

If the number is more than 500
place a 9 in front, if less than 500
place a 10 in front; divide the
result by 10.

¢ Wind Barb

' Indicates the wind direction and speed.
(In this case the wind is FROM the SE
at 15 knots)
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The term easterly means that the winds
are from the east. In the example
above, the winds are out of the
northeast, or northeasterly. On the
otherhand, the term "eastward" means
that the winds are blowing towards the
east.

Wind speed is given here in the units
of "knots" (knt). A "Knot" is a nautical
mile per hour.

1 Knot = 1.15 Miles Per Hour (MPH)

Each short barb represents 5 knots,
each long barb 10 knots. A long barb
and a short barb is 15 knots, simply by
adding the value of each barb together
(10 knots + 5 knots = 15 knots). If only
a station circle is plotted, the winds are
calm.



